» EACRAVES Y hw ] | N BEfER: SH7E6H298

[T K % OUT| IN | GR HDCP| NET 43z E 4%  OUT| IN GR HDCP NET B | K % | OUT | IN | GR |HDCP| NET
BEE HE QO 41| 41| 82| 10.8| 71.2 4601 |FiE T 46 | 50| 96 | 20.4| 75.6 o1l |PE 57 | 58| 115 | 33.6| 81.4
EE LB % 45| 47| 92| 20.4| 71.6 a7t &7 = 46| 49| 95| 19.2| 75.8 92ff FF & 59| 54 113 | 31.2| 81.8
31 F A 44| 41| 85| 13.2| 71.8 a8h e BT 45| 49 94| 18.0| 76.0 o3 |#F BEX 61 57 118 | 36.0 82.0
Al BiE @k 41| 49| 90 18.0 72.0 49KT | /\ik REF 50| 50| 100 | 24.0 76.0 94f1 |/\ik 1488 48| 51| 99| 16.8 82.2
5 GiE EE 44 46| 90| 18.0| 72.0 50ff P& 45| 49 94| 18.0 76.0 o5fiI fRE et 61| 56| 117 | 34.8| 82.2
6 EE 41| 47 88| 15.6| 72.4 51 (88K K 46 48 94 | 18.0| 76.0 o6l |#l =H— 62| 54 116 | 33.6 82.4
70 L§ == 45| 42 87| 14.4| 72.6 524 |/AVELl R 46| 53 99| 22.8| 76.2 97l R K 54 56| 110  27.6| 82.4
8l |fERA E= 44 43| 87| 14.4| 72.6 53f1 (kiR T 50 49 99 22.8 76.2 o8t HE i 47 | 62| 109  26.4| 82.6
ofii EUiE @A 43 44| 87| 14.4| 72.6 544 |/NEY) gz 49| 50 99| 22.8 76.2 oofii Il EA 53| 49 102 19.2| 82.8
104 |3TH FRAED 42| 45| 87| 14.4| 72.6 55(1 Ef @2 52 | 53| 105 | 28.8| 76.2 1004 1BE K 62| 57 119 36.0 83.0
114 % BX 43| 42| 85| 12.0| 73.0 5661 |fTF Mk 46| 46 92 | 15.6 | 76.4 1014 A& &% 61| 58 119 | 36.0| 83.0
121 =ik I 49 48| 97| 24.0| 73.0 5761 BE RE 51| 46| 97| 204 76.6 102{Z H& R 58| 61| 119  36.0| 83.0
13 O 2= 47 | 46| 93| 19.2| 73.8 58KT |J\ET {E{R 45| 45 90| 13.2| 76.8 10341 &R fEE 47 | 64| 111 27.6| 83.4
1441 #HE @k 46| 41| 87| 13.2| 73.8 5Of B [hE 51 57| 108 | 31.2  76.8 10441 HB BEA 50| 55 105 21.6/ 83.4
154 R =}k 45| 42| 87| 13.2| 73.8 60 (& BT 46| 49 95| 18.0| 77.0 1054 #R & 63| 57| 120 | 36.0 84.0
166 /AvE A 44| 42| 86 12.0| 74.0 6161 Tt == 46| 48 94  16.8| 77.2 10641 Hif W% 61 59 120 36.0 84.0
1761 k& FD 46 46| 92| 18.0| 74.0 6261 |[#AE i 48| 51 99| 21.6 77.4 10761 |/ #8516 56 | 61| 117 | 32.4| 84.6
1841 Nk AT 45| 53| 98| 24.0 74.0 630 |HEF FE 56| 54 110 32.4 77.6 1086 EE % 50| 57 116 31.2 84.8
194 Il Eth 45 41| 86| 12.0| 74.0 6461 |BE LHE 50| 48| 98| 204 77.6 1094 fki% fht 57 59 116 31.2| 84.8
2041 HiiE ER 55| 49 104  30.0| 74.0 6501 /NVE - 51| 53| 104 | 26.4| 77.6 1106 &F BF 53 | 55| 108 | 22.8| 85.2
21 R =& 45| 47| 92| 18.0 74.0 6641 [l @ 52| 52| 104 | 26.4| 77.6 1114 FE —# 66 56 122 36.0  86.0
22{1 itH #EE 46| 46| 92| 18.0| 74.0 6761 |ZER 47| 56 103 | 25.2| 77.8 1124 |6l &R 59| 63| 122 | 36.0| 86.0
23( (k% HEA 47 | 44| 91| 16.8| 74.2 6811 |IkKME #HF 52| 61| 113 | 34.8| 78.2 113{ |FGHEP E&E 55 47 102 15.6  86.4
241 ED % 45 40| 85| 10.8| 74.2 691 |/IVE HE 45| 49| 94| 15.6| 78.4 1144 hF BB 55| 68| 123 | 36.0| 87.0
| 25 |#ATF FEAER 50| 53 103 | 28.8| 74.2 7061 TH F 49| 44 93| 14.4| 78.6 1154 #85 % 55| 68| 123 | 36.0| 87.0
26f1 HE B 51| 46| 97| 22.8| 74.2 716 BT &= 45| 42| 87| 8.4 78.6 1164 |RBIL == 56 | 68 124 | 36.0 88.0
274 Ik FIE 46| 50| 96| 21.6| 74.4 72 [HE BEA 53| 52| 105 | 26.4| 78.6 11741 B FliE 57| 68| 125 | 36.0/| 89.0
| 28 UM BAkE 42| 48| 90| 15.6| 74.4 736 |HE BX 52| 46| 98| 19.2| 78.8 1184 #EL JRE 64 61| 125 36.0 | 89.0
204 LA TR 47| 49 96| 21.6| 74.4 7461 102 =R 53| 49| 102 | 22.8| 79.2 1194 FH &X 66| 59 125 | 36.0 89.0
| 30f ZAE = 55| 46| 101 | 26.4| 74.6 7501 88K 183 49| 47| 96| 16.8 79.2 12048 #H X 64 62| 126 | 36.0| 90.0
316 A & 50 56| 106 31.2| 74.8 7661 [{EH &kib 46| 50 96| 16.8| 79.2 1214 E=E#HS =2| 67| 59 | 126 | 36.0 90.0
326 |k 47| 47| 94| 19.2| 748 7761 (AR RA 51| 51| 102 22.8| 79.2 1224 g F= 55| 71| 126 | 34.8| 91.2
3341 |FE iEX 43| 45| 88| 13.2| 74.8 7861 |—IR ==AN 48| 47 95| 15.6 | 79.4 123{ | AE BAH 68 67 135 36.0 99.0
3441 &1L M 44| 43| 87| 12.0| 75.0 7961 |thA  fnsa 51| 44| 95| 156 79.4 1244 [V BEIT 66| 72| 138 | 36.0 102.0
354 ®E BE 56 | 49 105 | 30.0| 75.0 80 /vHk EAS 51| 55 106 26.4| 79.6 12541 #&= i3k 68 82| 150 36.0| 114.0
366 | FH 3k 49| 50| 99 24.0 75.0 81 %Ak HE 51| 49| 100 20.4  79.6 12641 | —H 77 | 88| 165 36.0| 129.0
3761 |k $E= 47| 45| 92| 16.8] 75.2 82 R $E 46| 48| 94| 14.4| 79.6

384 (B EIsE 50 48| 98 22.8| 75.2 831 #E W 48| 51| 99| 19.2| 79.8 BGE & 2K

39 |®H IFd 45| 46| 91| 15.6 75.4 84f1 |P&IE SIEF 60| 56| 116 36.0 80.0 LBGE ZF &

400 & BK 41 38| 79| 3.6| 754 85 EH AEF 50| 59| 109  28.8| 80.2

a1l BE = 46| 45| 91| 15.6  75.4 86f1 (R ZAI 58| 51| 109 | 28.8| 80.2

4201 |FH M 43| 42| 85| 9.6| 75.4 871 %VE IR 51| 51| 102 | 21.6| 80.4

436 L BT 52| 51| 103 | 27.6 | 75.4 88l AR &4 50| 57| 107 | 26.4| 80.6 BERSE: IRUT BRI £REMB%-HD C PES
a44f1 LS HE 45| 46| 91| 15.6| 75.4 8o HEE R 49| 50| 99| 18.0| 81.0 BEUf-l: OUT:1°2+3+6:8-9 IN:10-12-13-15-16-18
45f i B 44| 46| 90| 14.4  75.6 o0f BRE 52| 53| 105 24.0 81.0




